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Note: No work No points.

1. Noncomformative rate 1 of a truck of industrial products is to be checked. How many
samples do we need for making sure the Standard Deviation of the usual estimator of 1

smaller than 0,017 If the rate is known to be at most 0.3, what is your answer?(20%)

2 (3jve three methods cach to estimate the standard deviation and central location of a

population from a sample.(20%) e

1
| et
1. F is a distzibution function of N(0,1). Find F(1.64)-F(-1.96).(10%) i < i

4. The load of a bridge follows a N{20t,4} and the weight of cars passing the bridge follows

a N(2t,1). How many cars on the bridge at least would make the chance that the bridge

overloads over 0.1597(1 is a unit)(20%)

5. How to determaine a sample size for checking a2 manufacturing process. (It is good enough

tu give idea without fromula) {10%)

6. (X, X, X} i8 2 notmally N(5, #7) distributed sample. 8= L(X;—5)%n and 8, =
L(X,—XB)#/{n—1) are two estimators of 72, where XB is the average of X’s. Which one is

better? Why?(20%)



B 5P o K AN 5 T

O &El2

RO 7 3 i A

73 -k YR 5

ir =1 o
e NI

TABLE Values of the Standard Mormal Distribuion Function

z ] ] 2 3 4 5 f 7 3 b
.0 5000 5040 5080, 5120 5160 JBE99 5219 5279 3319 5359
A !,5393 3438 5478 5517 5557 5596 5636 .5675 ST4 5753
21,5793 5832 SB71 5910 594% 5987 6026 6064 6103 6141
30 L61Te 6217 6255 .629) 6331 ,6368 6406 6443 B30 8517
| 6554 G391 6628 6664 L7000 6736 6772 6308 BB14 BRTD
. GFIS 6930 6985 701Y 7084 FOBE 7123 7157 1190 TF224
0 25T G191 1324 7357 7189 7422 54 34RE 7517 L7540
) B0 V61 T4 JT6TI TR0 7734 J764 FTud 7823 7852
B JABRL 79000 T939 7967 7995 _ROZ3 BOS5T BO7R LRI04 NARR
g 8159 B18G 8212 8238 K264 3289 8315 8340 8365 8389
1.0 B473 8438 R461 B4R R50% 8531 BSs4 8577 B509 B2l
1.1 864} 8663 RAEG .BT0R 8729 8749 8770 8790 RR1{0Q A830
1 1.2 BR4Y 3369 _3BRE 8907 5935 B744  B962 B9800 8907 ROLS
1.1 20329049 9066 9081 9099 B3 .13 9147 vi6? 177
1.4 L9192 9207 9221 92316 w15l . 9265 9278 9297 9104 2319
1.5 9332 .8345 9357 9370 (9382 .9394 B406 D41E 0430 L9441
1.6 9452 ,9463 0474 9484 9495 B503 93515 9525 9535 D545
1.7 554 9564 0573 9582 .059) 9599 9608 9616 .0635 9633
1.8 964l 9048 9056 9064 967§ 9678 9686 9693 9700 ST06
1.9 8713 9719 9726 732 .971% A4 9750 9756 9762 L9787
2.0 FTFI 9778 9783 9788 .97 9798 9803 9808 .g9g|) BB
2.1 9821 3316 .9830 9834 9814 9847 DB46 9350 9854 D857
22 9861 9864 9RGE 9871 9874 SBYR 9BEL 9884 0387 9B
2.3 S8%93 9896 9898 9901 9904 BI06 9909 9911 9913 99]6
24 SINE 9920 9927 9925 9927 9929 9931 9937 99314 22134
25 99389940 9Y4] 9943 9945 2946 9948 9949 9951 9853
2.6 9953 99355 0955 9957 9959 S960 9951 9952 99573 59964
17 BU6S L9966 9967 9968 TUGY 9970 S871 9977 9073 9874
2.8 8974 0935 9976 9977 0677 9978 9979 9079 _09mg GOR]
2.9 9981 9982 9982 9983 .9954 S9UR4 9935 D985 9986 9986
3. 8987 9990 9991 9995 0997 S99PE 999R 9999 90uo 1.0000
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